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» Area of base = ntr?

~ volume of acone = 1/3 xnr2x h

1/3 mrzh
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v vertex

height slant

« height

By the Pythagoras theorem, (Slant height)2 = (Radius)® + (Height)2
Q-1 Find the volume of the right circular cone with

1. Radius 6cm , height 7cm

2.Radius 3.5¢m , height 12¢m
Solution:

1. Radius (r) = 6 cm , Height (h) = 7cm , Therefore, volume of the cone

1

2. = —ar*h
3
1 22
3. = <§x7x6x6><7> cm’
4, = 264cem’

5. Radius (r) =3.5¢m , Height (h) = 12 cm , Volume of the cone

1
6- = gﬂ'}"zh
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7. = <%x27—2><3.5><3.5><12)cm3

8. = 154cm’

Q-2 Find the capacity in liters of a conical vessel with
1. Radius 7¢m , slant height 25cm
2. Height 12¢m , slant height 13 ¢em

Solution:

Radius (r) = 7cem , Slant height (/) =25 cm , Consider the height of the conical vessel . Then by
applying Pythagoras theorem,

h=1*-r
=>h=125-7*
= h= /62549
= h=+/576

=>h=24cm

Now, volume of the cone

1

= —xr’h
3
1 22
= <§x7><7x7><24> cm’
= 1232¢m’
. 1232
Therefore, capacity of the vessel = <m> 1 =1.2321]

Height (k) = 12 ¢m, Slant height (/) = 13 em , Consider the radius of the conical vessel . Again, using
Pythagoras theorem,

r=\rF-n

r=1/13% - 12?
r=1/169 — 144
r=5cm

Volume of the cone

1
= —nr’h
3

37

220 ;
= —— | cm
7

=<1X2X5X5x12>cm3
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Therefore, capacity of the vessel = <@> | = El , 11 = 1000cm?

7000
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